
Înmulțirea numerelor naturale 
 

 

 



 
          Calculează fiind atent la ordinea operațiilor.  

(2 x 9) - (3 x 8) = __________________________           8 x 3 – 19 = __________________________ 
(3 x 6) +(3 x 8) = __________________________          403 + 2 x 8 = __________________________           
(8 x 3) - (2 x 7) = __________________________         621 -  6 x 2 = __________________________ 
(2 x 8) - (7 x 2) = __________________________          101 -  3 x 7 = __________________________ 
 

(3 x 4) + (3 x 3)= __________________________         3 x 9 + 483 = __________________________          
(7 x 3) - (4 x 2) = __________________________         200 - 8 x 3 = __________________________           
(3 x 7) + (2 x 7)= __________________________         803 – 3 x 5 = __________________________ 

(3 x 9) - (2 x 6) = __________________________                69 + 3 x 3 = __________________________ 

 

 
 

 

 


